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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 ] ] ] I
3500 —>— EcFzExp :
3000 4 —>¢— ECdef
—>— water_ec |

2500

2000 32
1500

}M

1000

B m———————

Warning: col [ EcFgro’, 'EcPltng’] is missi

2 % 2 0 X 2 X X 2

500 i

0 25 50 75 100 125 150 175



Plot [’ ECopt’]

3500 -

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data

dFVvi
dFVo

——
+

65.0

62.5

60.0

57.5

55.0

52.5

50.0

47.5

45.0

day

—&— DUC

65.0

62.5

60.0

57.5

55.0

52.5

50.0

47.5

45.0

day

—@— FRV

65.0

62.5

60.0

57.5

55.0

52.5

50.0

47.5

45.0

day

—@— FRC

0. 04 -
0.02 -
0. 00 -
0. 02 -
~0. 04 -

278
277
276
275 -
274
273

179. 0
178.5 1
178. 0
177.5 A
177.0 A
176. 5
176. 0 1

0. 6454 -
0. 6452 -
0. 6450 -
0. 6448 -
0. 6446 -

65.0

62.5

60.0

57.5

55.0

52.5

50.0

47.5

45.0

day



400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

90

80

70

60

50

40

1500

1000

500

2.0

1.5

1.0

0.5

1.4

1.2

1.0

0.8

0.6

0.4

0.2

Plot [['1", "lopt’], ['T,

"Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAI', 'optEtRate’]
T

L ﬂ W W i ’A\u W\N\IHUAUN\V_\\R\: e}
(AT o
| 1] UE
i P/\/l/ﬂ W\/\f—\v —
| i l \A\/\,\,.
A A\ \V/\\"I S \"\/\\T
VY N A AT
A s
IU v 5
| l\/ \ !/‘/\’\/\\ -
S A L L

RARNY

\/
MM —
A
o] LN
oA LV G
= SR ‘
i \\
e \
— g \

k BN ]
ANy N ] [VANWMNY
1A VNMY VA

ST




Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-2_0
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